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ﬁg TREOBEBOTILEHOKRES TERFEOHBEILNOKRES TEFEOBRBDOEILHDOKRES TREOHBSSLADKRES
&S X 4 E;%;‘c? ‘Fﬁﬁ“ﬁb\(‘zf)ﬁﬁiﬁﬁ 73(&?%3 X 4 Tﬁ#‘ﬁﬁfé\é‘g(?n;kiﬁ ‘(.%.r'na; jj(ﬁ?t;ié X 4 ;.g,r‘n‘c; J:ﬁ#‘m\(i)a)tt‘.é? jj(ﬁ?(ﬁé X 4 J:ﬁﬁ‘ﬁ?ﬁ‘(i)o)tt% '(ri? jj(g')ﬁcf)é
7 100kN/m##8x5 | 1.00 | 0.00 ~ 0.01 100.17 |3mZE#BAD| — ~ — — — | 100kN/m%&#8=2% | 1.00 | 11.27 ~ 11.30| 100.17 |3m%&E#BZ% - ~ — — —
st 1.00 | 001 ~ 7.80 100.00 | #nLst | 0.00 ~ 7.80 | 2.39 12.79 ThLst 1.00 | 6.00 ~ 1127 100.00 | =nst | .00 ~ 11.30| 2.39 12.79
2 100kN/m##82% | 1.00 | 000 ~ 0.41 105.99 |3mZE#BAD| — ~ — — — | 100kN/m%E#8z5 | 1.00 | 10564 ~ 11.64| 105.99 |3mEBZ3 - ~ — — —
ZhLst 1.00 | 041 ~ 819 100.00 | #hst | 000 ~ 819|221 11.82 FnLsn 1.00 | 5.00 ~ 1054 100.00 | 0S| 6.00 ~ 1164 2.21 11.82
3 100kN/m%z#8z5 | 1.00 | 000 ~ 063 10940 |3mZE#EZ3| — ~ — — — | 100kN/ %825 | 1.00 | 1059 ~ 1246 109.40 |3mE#BZ% - ~ — — —
st 1.00 | 0.63 ~ 842 100.00 | =hst | ooo ~ 842|213 11.41 st 1.00 | 5.00 ~ 1059 100.00 | =nst | 6,00 ~ 1246| 213 11.41
4 100kN/m%z#8z%5 | 1.00 | 000 ~ 1.17| 11758 |3mZz#z3| — ~ — — — | 100kN/m%E 25| 1.00 | 1053 ~ 1416 117.58 |3mEEZ5 - ~ — — —
ThList 100|117 ~ 895\ 100.00| FnLS | 000 ~ 895| 2.19 11.73 ThLst 1.00 | 6.00 ~ 1053 100.00 | ENLS | 6,00 ~ 1416] 2.19 11.73
5 100kN/m%z#8z% | 1.00 | 000 ~ 1.80| 12758 |3mZz#z3| — ~ — — — | 100kN/m%E#25 | 1.00 | 11.26 ~ 2025| 127.58 |3m&EEZ5 - ~ — — —
st 1.00 | 1.80 ~ 9.58 100.00 | #nLSt | 0.00 ~ 9.568| 2.50 13.39 ThList 1.00 | 6.00 ~ 1126 100.00 | =nLst | 6,00 ~ 2025| 2.60 13.39
P 100kN/m%z#Z5| 100|000 ~ 217 13376 |3m&EEZE| — ~ — — — | 100kN/m%E#BZ25 | 1.00 | 1095 ~ 2207| 133.76 |3mE#BZ% - ~ — — —
zhLst 100|217 ~ 996\ 100.00| FhLs | 000 ~ 996 | 2.656 13.63 FnLsn 1.00 | 6.00 ~ 1095 100.00 | FhLS | 65,00 ~ 2207| 2.66 13.63
7 100kN/m%E#8z5 | 1.00 | 000 ~ 270 14258 |3mZz#z3| — ~ — — — | 100kN/m%E#Ez25 | 1.00 | 1054 ~ 2359 142.58 |3m&EEZ5 - ~ — — —
st 1.00 | 270 ~ 1049 100.00 | #hst | 000 ~ 1049 2.68 14.34 ZhLst 1.00 | 6.00 ~ 1054 100.00 | =hst | 6.00 ~ 2359| 2.68 14.34
P 100kN/m%#B25 | 1.00 | 000 ~ 287\ 14543 |3mEBZB| 000 ~ 0.07| 3.04 16.25 | 100kN/m%#8z25 | 1.00 | 1053 ~ 2507 | 145,43 |3m&E#BZ5B| 2500 ~ 25.07| 3.04 16.25
ThLlst 1.00 | 287 ~ 1065 100.00 | NS | 007 ~ 1065] 3.00 16.05 TnList 1.00 | 5600 ~ 1053 100.00| ThLS | 5,00 ~ 2500 3.00 16.05
9 100kN/m%E#25| 1.00| 000 ~ 207 15203 |3m&EEZB| — ~ — — — | 100kN/m%i#82% | 1.00 | 11.60 ~ 2541 132.03 |3mZi#BZ5 - ~ — — —
ThLlst 100|207 ~ 985 | 100.00| ThLs | 0oo ~ 985|278 14.86 TnList 100 56.00 ~ 1160 100.00| ThLS | 5,00 ~ 2541 2.78 14.86
10 100kN/m% 25| 1.00 | 000 ~ 174 126.73 |3mZzBAB| — ~ — — — | 100kN/m%#82% | 1.00 | 1266 ~ 2821 126.73 |3mZi#BZ5 - ~ — — —
ThLlst 100|174 ~ 953\ 100.00| FhLs | 000 ~ 953 | 2.69 14.42 TnList 1.00 | 56.00 ~ 1266 100.00| ThLS | 5,00 ~ 2821 2.69 14.42
11 100kN/m% A5 | 1.00 | 000 ~ 174 126.71 |3mZE#BAB| — ~ — — — | 100kN/m%#BZ2% | 1.00 | 1207 ~ 23.79| 126.71 |3mE#BZ3 - ~ — — —
ThLlst 100|174 ~ 953\ 100.00| FhLs | 000 ~ 953 | 2.43 13.00 ThList 1.00 | 56.00 ~ 1207 100.00| ThLS | 5,00 ~ 2379 | 2.43 13.00
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm% 25 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD . 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% A5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEAD ~
zhsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZnLst ~ ZhLst ~ Zzhust ~




